Battery Harness, Cables and Charger

i

)

Shroud shown

i

8
ONN

for ref. only




Battery Harness, Cables and Charger

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

1

N

~N o Ok~ Ww

>

1099754-NLA

1099753-NLA
1053161-NLA

1099744-NLA
1088745-NLA
1088742-NLA
1099760-NLA
1099752-NLA

1088748-NLA

1099772-NLA

NLA - Charging Cable, On Board with Hardware
(Lynx SX3/ LX3/ LX3 Plus and Panther MX4)
Includes: (1) Charging Cable, (2) Screw, Phillips

Pan Head (M3 x 0.5 x 16)

2 ea. Washer (3.2 x 10 x 0.8)

2 ea. Locknut (M3 x 0.5 x 6)

2 ea. Cable Tie

1 ea. Tube, PVC (19 x 20 x 260L)
NLA - Charger, Battery, On-Board

NLA - Charger, Battery, 8 Amp, 115vac, Off Board
Dual Mode Round Plug, Lester
NLA - Strap, Fastening - On-Board Charger
NLA - Cord, Charger, AC
NLA - Strap, Carrying, Battery
NLA - Strap, Fastening - Battery
NLA - Harness, Power Connector, Circuit Breaker
Cables and Hardware
Includes:

1 ea. Harness Power Connector

2 ea. Cover, Battery Terminal (Red)

2 ea. Cover, Battery Terminal (Black)

1 ea. Cable, Circuit Breaker (Red)

1 ea. Cable, Circuit Breaker (Black)

1 ea. Tube, Snake (10 x 110L)

1 ea. Tube, Snake (10 x 95L)

4 ea. Screw, Hex Head Cap (M6 x 1.0 x 12)

4 ea. Hexnut (M6 x 1.0 x 10)

4 ea. Cable Tie
NLA - Circuit Breaker (30 AMP) - Lynx SX3P/ SX3/
LX3/ LX3 Plus, Panther LX4 and Zoom-3
NLA - Charger Cable Cover Assembly

Includes:

1 ea. Cover, Charger Cable

1 ea. Screw, Phillips Pan Head (M4 x 0.7 x 12)

1 ea. Washer (M4 x 9 x 1)

1 ea. Locknut (M4 x 0.7 x 7)

1

A

e

1

-

B RN R e

NOTE: A - (On-Board) Battery Charger #1099753 is no longer available. Use the (Off Board) Charger part #1053161 as a
replacement.
B - Use Battery Charger part number 1123249 as a replacement.




